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Area of Sectors and Segments HW- ACC

. Find the.area of the shaded region. Show interms of pi-and-round-to-the-nearest hundredth, - - - .-

C300°

3. Agrocery store is slicing a wheel of 4 T ~2
cheese into slivers for free samples. 7. RN K 3

What is the area, in square inches, of
one sliver?
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Find the missing variable. &’ 21
A=14.92m
13. The shaded area is 121rcm Find r. 14. The shaded area is 32wcm? Find r.
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15. The shaded area is 120wcm? and the 16. The shaded area is 10w cm?. The radius of the

radius is 24cm. Find x. large circle is 10 cm and the radius of the small
circle is 8 cm. Find x.
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